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PART - III
uenfled senfllgn whmb Liereudue
BUSINESS MATHEMATICS AND STATISTICS
(HUIP OHID @yiifle euifl / Tamil & English Version)

&ML 3jere] :'3.00 wenfl Cryw ] [ Quorgg wdubueamsedr : 90
Time Allowed : 3.00 Hours ] [Maximum Marks : 90

Sidleyengset : (1)  imarsg deamrssEpd sflurs uHeurd e dararsr eraTUsm e
#llurisgs Qarararayn. wFsuudealad Gopumindea omné
sangrenfluumrerfiLid o L anqurss Qsfedésayib.

(2) Beod bz asmLuy @wwoar LLEGCL s eusHELD,
9y &Gamg HeushGn LwaLREs CeuamHb. UL kG eUENeUSM (S
Guenéled Lwem(HSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - 1/ PART -1
GO : () SemeSg) anrsaEndGEL el wallsseab. 20x1=20

@ Qer@ssuul@erer wMOD el safler WBaayb DL6n LW
e ews CsibbsH555 GHULGLE elenulmenib Cairgg
TP LD
Note : (i) Answer all the quesﬁbﬁs.
(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer,

[ HBlis / Turn over
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. & . . 4 x
1. Al =13 LOHMILD |Ad;A| = \5 7‘ crarfled, x -Gor hHlureng, :

(<) 3 (<) 4 (@) 2 () -5
; _ 4 x
If [Al = 13 and |Adj A| = ’5 e then the value of x is :
(a) 3 b) 4 € 2 d =5
2. Qereumeuateun bl TE RO AMEETar S liLeL 2 (HOIHDD HTE ?
(1) =G, +5C, (<) RoR;
(@) R—2R;+2C; () Ri—2R;—4R;
Which of the following is not an elementary transformation ?
(@) C=C;+5C, (b) Ri&R
() R-2R+2G (d) R—2R—4R,
3. k# ___ _ erafld, x+y+z=2, 2x+y-z=3, 3x+2y+k=4 ereanp CpAw
sweatur_ (s Cgmgluurang, @Cr e Steneuls QupBmésLw.
()1 ()0 (@) -4 () 4

The system of linear equations x+y+z=2, 2x+y—2=3, 3x+2y+k=4 has unique
solution, if k is not equal to :

(a) 1 (b) 0 9 -4 (4 4

4. [(m+2)=90[(n); (n > 0) erafled, n -e wHULTEF) :

(1) 9 (<) 8 (@) 10 (w) 77
If [(+2) =90 [(n) ; (n > 0), then the value of 0" is :

)

(@A) 9 () 8 (c) 10 (d) 7
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o X

*T:T‘ dx-6or (i dIrLy

Y e SO e
(=) ‘Jl kel 4+ C (<) u"\[l 4+ " + C

(@) Vi+ o' 4 C (IT) __Ei_,?. + C
V1 + ¢

e’
j _ dx is:
J1+ e’

(@ 2yi+¢e'¥ +C (b) exf1+ex+c

X

© Vi+e' +C () JleT?+C
e

-

y=Ix @b euenareueny, 0 -eflaflmba 2 euany erHLBSEID Qrssdlen Ll

(=) 4 8. Q@GSET (24) 1 s.00E
(&) 3 s.DREGEET () 2 s.@Gs6T
Area bounded by y= x| between the limits 0 and 2 is :

(a) 4 sq.units (b) 1 sq.unit

(c) 3 sq.units (d) 2 sq.units

Qmé Hlene Clseva s s MC=100vx, TC=0 wHmibd Qeuafui® 0 erafed symafF
gy AC eg :
200

322

—_— X

3 200
(<) 29 15 (@) 20,2 (7) —
3 3 3y 2

(1)
The marginal cost function is MC=100\E. Find AC, given that TC=0 when the
output is zero :

1200 3, 200

200 200 1
— X A d) 3
(@) 312 ®) 3 3 ( 372

(SN
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]
N
=
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8. d_'_zl - ’ﬂ +5 areaip amss0sWE swaturlgen aflag o) Hb Uig.
dx dx i

GaopGw :
(@) 2 wpmbd 3 (<p)2wpmb 1 (E) 3whpb 2 (F) 2 wHHD 2

ifferenti on |42y _ [dy tively :
The order and degree of the differential equation 3 + 5 are respectively :
%

dx R Le

(a) 2and3 (b)y 2and1 () 3and?2 (d) 2and?2

9. (3D2+D-14)y=13¢% -an Hpliys Qsmes :

- (24) xe (<) 5 & (@) 13xe () %ez"
The P.I of (3D?+D-14)y=13e% is :
” | X 2x IZ 2x
(a) xeX »m (b e () 13xe™ (d e
10. A%y,=
(31) yaty;+2y, (<25) y2—2y; + Y,
(@) va+2y;-y, (FF) Yo+ 2y +y,
A21j0=
(@) Yty t2y (b) Y~ 2y Y,
(©  y+2y;—yy (d) Y, +2y Y,

11. prer pamsE durmeasaia Gomeiwreang), epenm HreTs@héiE wennGu
21, 19, 22 S|EG&ET G Seundlar Blapsseyser wpamGu 0.29, 0.40, 0.35
S GLD. SVG RENES Garud 0.50 euSTEEET eTailed, (LPETm HTeTs (@hdEs T e
eréTumréSUULL. Gamuw
(<51) 3.045, 3.8, 3.85 (<) 21, 19, 22
(@) 0.29, 0.40, 0.35 (rF) 215, 19.5, 22.5

Demand of products per day for three days are 21, 19, 22 and their respective
probabilities are 0.29, 0.40, 0.35. Profit per unit is 0530 paisa, then expected profits for
three days are :

(a) 3.045, 3.8, 3.85 (b) 21,19, 22

(c) 0.29, 0.40, 0.35 (d) 215,195, 225
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14.

15.

5 3317 (NS)

15 (@) whwi (%) guenpy
The probability function of 4 random variable is defined as -
X= X | ) l_-—ﬁ—'—-— ] 5
Pex) k 2k 3k ik 5%
Then k is equal to :
1
(@) 1 (b) ]_]5“ (c) zero (d) one

(]

S0 2-pusHwrers BWTN&EGD Wanelens wrpmis@Alipsafias (Switches) 2 s5¢is
.‘5“-’”&_‘—“-15% @w_murr@dm‘rsmu eren Sybluiiu®@dpg. o Cuamigud LI
50 WerelSens LIVDEGBDseNdr idsul swrs 2 GPPUTO&ET Bl muusgharen
Papssarang, :

(=1) 1.5¢1 () 3e1 (&) 2.5¢~! (/F) 2e-!

A manufacturer produces switches and experiences that 2 percent switches are defective.
The probability that in a box of 50 swilches, there are at the most two defective is :

(@ 1.5e~! (b) 3e~! () 2.5¢~! (d) 2e-!

Hy: p=py erenugp@ gpu H, : p < py ey gm Gergenemie, lens s
UL a=0.01 28 GmaEh Cung, g Eroraflagn whiy

(1) —1.645 (24) —2.33 (@) 2.33 (7) 1.645
For testing H, : o= g against H, : p < p, what is the critical value at a=0.01 ?
(a) —1.645 (b) -2.33 () 2.33 (d) 1.645

N yeraerer @ ppenrwd Asn@Huldlmbs swamiiy sQn@ iy wenud
psaen @ epuy Gairay Galub Gungy sisear Hapssa :
1
n
(@) = (=) T @) § () 1

In sim;lle random sampling from a population of N units, the probability of drawing
any unit at the first draw is

N

)

1
oy X ® N © (@ 1

n

[ Hmiins / Tum over
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16,

17.

18.

19.

20.

Elyeim_neug) auensiiGanp erenug)

(=31) Hy soumy eraflén THUZ (<) Hy geupy eraflé) omyliuigy
(@) Hy eamenw erefdy moug () H, eagnew eeflld gnug
Type 1l error is

(@) Accept Hy when it is false (b)  Reject H, when it is false

(¢)  Reject Hy when it is true (d) Accept H, when it is true

TS C upmyib 1| élw eamsmars Qsran, srambent: Qgriflen Qumsse
QUi euenDILITEg) '

(1) y=T+SxCx1 (<) y=TxSxCxI

(@) y=T+SxC+I () y=T+S+C+I

The multiplicative model of the time series with the components T, S, C and [ is :

(@) y=T+SxCx] (b) y=TxSxCxI

() y=T+SxC+l (d) y=T+S+C+1

2 puUsHL Qurmellen srams UTgl&Ea&snig W wryLr@sdr TEHenen ?

(1)1 (2)4 (&) 3 () 2

How many causes of variation will affect the quality of a product ?

(@ 1 (b) 4 (9 3 d 2

PHEED samsdd eupiised wHmIb GomuilLib swwrs @dameil Lrd e
(<21) s0&87HME, (%) swworeansg

(8) swséyreang (/) swfleawbps

If number of sources is not equal to number of destinations, the assignment problem is
called

(a) unsymmetric (b) balanced

(c) symmetric (d) unbalanced

Erop Eirelle) @a1ss 0 epsailen eramafims DG :

(1) m+n+l -6@& swLHDS () m+n-1 -&@& swb

(@) m+n+1 -&@& swd (F) m+n-1-4@& FLOWHMF)
In a non-degenerate solution, number of allocations is :

(a) Notequal to m+n+1 (b) Equal to m+n-1

(c) Equalto m+n+1 . (d) Notequal tom+n—1
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; U@ - 11/ PART - 11
@GP ‘Jc_gﬁ@llb 7 anréaEnie ofmiwalbsoyd, danr erdr 30 -6G
SLL_muwns aﬁ]sm_tuaﬂe'sa)mm, ‘ 7x2=14
Dote Answer any 7 questions. Question no. 30 is compulsory.

2. 11 Guandléser whmib 3 e iurdasaia Qorgs o I 64. Clogib
8 Quendldser wpmn 3 DPllunengeflen Qorsg ellena T 49. S Crywdlan
aflglewls L g R Quendled Lommib gp flLumen eflepaaniid BT TS,

The total cost of 11 pencils and 3 erasers is ¥ 64 and the total cost of 8 pencils and
3 erasers is ¥ 49. Find the cost of cach pencil and each eraser by Cramer’s rule.

L ’ -9y a2
| 22, LDQLHS]@&; : Icog = +12 S dx .
d cos™x

.2
Cos 2x + 2sin“x |

x.
C052.\'

Evaluate : J

| 23. y=4-x2 TaD UFeUETWID, ¥ &G, ¥=0 wHmb x=2 erem Gam & @HLen
| gHUOSHD SThssHen UTFLmUE STars.
Find the area of the region bounded by the parabola y=4—x?, x-axis and the lines
x=0,x=2. i

24, =28 aufsQswgb smagg CrrGCari s AsrEuia amas6s s
FLOETUMNL_ L DMDEE.
Find the differential equation of the family of all straight lines passing through the
origin.

25. QgmLiFflwurear gweumiL rlufer LeRTL&ET Wireney ?

What are the properties of continuous random variable ?

26. mEHOLLYUO ureuedar srredl 1pduy 20 Grqume, LrmulLearenes WS UL
16 erameyb QaraTLTed, “p” WHML N’ r@dr wlLGMETE STeRTs.

a__rr

The mean of Binomial distribution is 20 and variance is 16. Find “p” and “n”.

[ Hslys / Turn over
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27, yaraflllwe wiguoragher @ran®) uGHsmen THEIS.

Mention two branches of Statistical Inference.

28. Gar@ssuuc L ydarefleQauriismard Qaram®, LEGHE gyrgf (5336?9[9115]'50i e
Cursg CamlaL Qurmssis. /

; ; 05 2006
<pem@® | 2000 | 2001 2002 | 2003 | 2004 20 |
o phuss | 105 115 120 100 110 125 135 |

Fit a trend line by the method of semi-averages for the given data.

Year 2000 2001 2002 2003 2004 2005 2006
Production| 105 115 120 100 110 125 135

29. Qar@ssun Qerer syaflssrar o sHs lwssms
(i) Sédmefen BUGUEH HmILD
(i) BoQumeder Bsdm edweuhenm LweTuRSS &meiTs.

it Gphleasaiear Hlaolur@sdr
E, E,
S, 40 60
S, 10 —20
S, —40 150

Given the following pay-off matrix (in rupees) for three strategies and two states of

nature.
States-of-nature
Strategy
E, E,
S, 40 60
S, 10 -20
8 -40 150 | .

Select a strategy using each of the following rule :~
() Maximin ULt

(i) Minimax T
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490 (0, 0), (1. 1) 1ommub (2, 20) erénp yerefiaen cuifl 550D y=ar* +bx+c ev e
(mEene

UFQUENETW <SientoliLjeni i Fwerum_igenen, Dadgressiilar B)enL SDED
vwenuBEEE srems,.

Find.an equation of the parabolic form y=ax?+bx+c passing through (0, 0). (1 D
and (2, 20) using Lagranges Interpolation.

L
w@d) - 111/ PART - 111

GMuY : aCasamb 7 diamsswrseE e welsseyb. dlenr aen 40 -55
sLLmuw eflenwelés Ceuan@io, 7x3=21

Note : Answer any 7 questions. Question no. 40 is compulsory.

11 -1 1 -2 5
31. A=|2 -3 4| whmod BT =|-2 4 1§graﬂgu
3 -2 ;3 L 3 -6 -1
AB -ulen srgdenens snens.
1 1 -1 1 -2 5)
IfA=1{2 -3 4| and BT =|-2 4 1/, then find the rank of AB.
3 -2 3 3 -6 -1

. 1
32. wHLEES : j—————————dx.
Jx2+6x+13
1
Evaluate : .[—-——~— dx.
\/xz+6x+13

33, 22,000 cranp QsrepssE ASTLIEE alBely gansd L LuBAns. el

gl pamdLranmég 5% AQuden, 21505108 assemear arhsafid
S rbug GgrensemuLs Guré @mwLRsETEw ? (log,2=0.6931)

The sum of % 2,000 is compounded continuously, the nominal rate of interest being
59 per annum. In how many years, will the amount be double the original principal ?

(log,2=0.6931)
[ Bmuys / Tun over
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M. Epsadn. Auriismars Qara® eAHULL o milienud GTeHTs.
x 2 3 4 5 6
() | 450 | 492 | 541 i 674
From the following table, find the missing value.
% 2 3 4 5 6
f(x) 45.0 49.2 54.1 - 67.4

35.

36.

37

38.

@@ urury pwpdluier gmel T 2,000 Qarub F@eausparar Hebnsse,
0.4 Svag ¥ 1,000 Guueu Qupesbara Hspsseay 0.6 aafld), 6urs)
aréliunigsd, Lrpur® wHmb L eNwssn @aruh ererer ?

In a business venture, a man can make a profit of ¥ 2,000 with a probability of 0.4 or

have a loss of ¥ 1,000 with a probability of 0.6. What is his expected, variance and
standard deviation of profit ?

Quadlos fspsse awmaamyuida gCsayb apeay WaaT@LL LIRTLS®ET
T(DS)5.

Write down any three chief characteristics of normal probability curve.

Q@ usamL 9000 werp eisiLBbCUTE g Cod o drer eramadr 3 DD
4 %8s 3240 pep deLsdapa. Gopwupp usower UL YenLp
Nlssamss sansd®s.

A die is thrown 9000 times and a throw of 3 or 4 is observed 3240 times. Find the
standard error of the proportion for an unbiased die.

20 GHUALL parsde o eer 2 wirfevatiudrailude LIg&@LD LDTemTeu el e
aram anllé s @mw Breang e®mLIbEr Bsmb srrefeowl e qu (LD
sreygatledmng samsd(Hs.

2001
124

2002
120

2003
135

2004
140

2005
145

2006
158

2007
162

2008
170

9},60m(h)
Lo Temreunsatlen eramaniéons;

2009
175

Calculate four-yearly moving averages of number of students studying in a higher

Year 2001 | 2002 | 2003 | 2004 | 2005 | 2006 [ 2007 2008

Number of students| 124 | 120 -{ 135 | 140 | 145 | 158 | 162 170

secondary school in a particular city from the following data.
2009
175
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39.  @HsE® sansdda safly aigeud Hms.

G:V(‘ mﬂlhvl'nill'it‘ﬂl {Ur]‘]] Or Assignm(\nl Prohltin].

20. uflw e HusH Qurgallen eflenamiamiy fix) = (100 + 212)e", erans. Qi@ x TS
sheguiler DLQuUIET HeaLs@En prasald aanarfléms erans. Yo pren@
prigaflér ips Qummeaflen Qungs humanes HraEns. (e~4=0.018)

The rate of new product is given by f(x)=(100+ 2x2)e?, where x is the number of davs

the product is on the market. Find the total sale during the first four days.

GPILY : SimeSg famss@ss@h el waflésa.

(e~1=0.018)

u@&d) - IV / PART - IV

Note : Answer all the questions.

7x5=35

1. (=) Qar@ésuulL @ndhmes Cswey LHYL eumHaumi sriyser panGu

C'(x) = 50 + % wHmb R'(x)=60 wrpré Qswey T 200 erafled, BUQU

GlTugansd SHrems.

VG

(=) Demauphd ofeurhs@ss@. «Wayt dlmes GHUELE orermars
sLLewssab. Gogid g srowrmns Cergmar, srrafl wrpms
Camgear SpAweupeps Lisd Qo e Blapl&sayb.

_ wefl paméE el (3) @saflar aranaisms
GlummeTgEer : : _ : ) :
Dig UL @By e[| Siigliues. e pL iy &
A 6 10 50 56
B 2 2 100 120
C 4 1% 6 60 60
D 10 12 - 50 24
E 8 12~ +- 40 36

[ miys / Turn over



3317 (NS)

x
irey are oiven by C'ix) = 50 + —
1 (a) The marginal cost C'(v) and mnr,;in.ll revenue R'(x) are gIve y C'(x) 50

00. Determine the maximum profit.

and R'(x)=60. The fixed cost is T2
OR

n . w how it satisfies
: : . - lisher’s ldeal Index and sho
(b) Using the following data, construct Fish

e QoVvers i 'S,
Factor Reversal Test and Time Rev ersal Test

I3

— [Price in Rupees per unit Number of units
ANy Base Year| Current Year|Base Year|Current Year
A 6 10 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12 50 24
E 8 12 10 36

12. (=) e Csie@d 500 wremeauisaiar syrafl wHUuGuarr 40 wHmL S
assd 25 aafld wsHW 60% wrameuTser QUMb W LIGELETSafler
sTaenasaars srans. [P0 < z < 0.84)=0.30]

S{EVEVS)

(<=2) Yenmaumpbd efleugragafledmpg /' (x) -ar wdlieu, Bl Leaflan WPGHTEE
Qe sdsmsellan @sdlrsma LwaLDEHE STaws. |

x 0 1 2 3
f(x) 2 4 8 20

(a) The mean score of 500 students for an ex

amination is 40 and S.D is 2 g
the limit of the marks of the central 60 and S.Dis 25. Determine

% of the candidates. [P(0 < z < 0.84) =0.30]
OR

ie

(b) Using Newton's forward interpolation formula, find f'(x) from the following table

b 2 0 1 2 3
f(x) 2 4 8 20
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43. (=) a2m @ﬂﬂ_l'—“—(m'—L— SiQwemeanid gm prafld e5lHm plg b Grmiiig. x ¢
rdakn il (B Ley@TBselled) gp erem gmifhs FWeTLILIL fapaires
S@L@muuLng. s Repsaeurang), [(v) aram Hapssal DAL E
sridan ppeon Asr@EsiuL Gararg crafld, -

[ Ax, 0sx<10
() =JAQR0-x), 10sx<20
I 0, LM Cm il gy
@) A -@er whHlwus sreamrs.
(i) woprafle epsuuefmeen Qrriysafdn oramamsmause
(1) 10 LayarPsEEEEE Hsws 4
(<) 10 veyamR&HEREEE Gameaurs
(@) 5 LHmWw 15 Leyar () & EHEE @oLuld @muushsrea
Blapsseiamats srems. 5
SI60608 L
(=) ‘a” wHmd ‘b @en ebwdHiysErsE x+y+z=6; x+2y+32=10,
r+2y+az=b ey FwaTUTH&ET :
(i) obs Siayd Cupdlyms
(i) @Cr @@ Stwas AupHmEED
(iii) eramanil&enaswnn Srajsmer QUDBHEGLD erem pTmis.

(@) The amount of bread (in hundreds of pounds) x that a certain bakery is able to
sell in a day is found to be a numerical valued random phenomenon, with a

probability function specified by the probability density function f(x) is given by,

) Ax, for D<x<10
f(x) = {A(20—x), for 10=sx<20
0, otherwise

(i)  Find the value of A.
(i) Whatis the probability that the number of pounds of bread that will be sold

tomorrow is :
(a) More than 10 pounds,
(b) Less than 10 pounds, and

(c) Between 5 and 15 pounds ?
OR

(b) Investigate for what values of ‘a” and ‘b’ the following system of equations
x+y+z=6, x+2y+3z= 1Q, x +2y+az=b have,

(i)  no solution,
(i) a unique solution, T
(iii) an infinite number of solutions.

[ miiys / Turn over
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4. (o) 0HIGGS - J' "' -

45.

(<) ¥ srevaflsd swuriiugpsen Gndiflaaws Qsama (3xy+ Y

nd - m? -2
SIVG)
2) d+ (2 2) 4y =0

- : S . oy 212 aradilen,
wHmbd @ Gy sraaflad gurfliugpharer Gorgd Qaway T 12 ¢

Quwrgs QFaweys arrems SIS,
N
2! -3y -2

dx

Evaluate : J-

OR

If the marginal cost of producing x shoes is given by (3xy+ ) dx + (
and the total cost of producing a pair of shoes is given by ¥ 12, then
cost function.

24 xy) dyﬁ" 0
find the total

(=) Qar@sstiul_Herer CUTE@GMTEE) Gansdlan 2Ty 2ilgULenLs HTenel

(<

E&EMIL (panEeile) HTaTs.

I Il I IV efly
A 5 1 3 3 34
B 3 5 1 15
C 6 3 12
D 1 1 4 5 19
Csmau 21 25 17 17

(i) eu CunE epame penm

(i) B&flmy Ceevey wpenm

(iii) Ceurasedlenm Camymu (wpenm
{60608

) Quaefleoew uredea odaer @@ CeTdiDsrena wlﬂmﬁ&mﬂ%

sardlwirkigaflen WrmLC L eTanau 25 erens. 50 uanilumeniser Qamam, 0
Faled a.me?mﬂra;cfrﬂem QLD@{@; amgﬁunf‘)g: 2550 erens. &(maCamer, =57
arenumsLD AFHE wrpran FGHSGETT p=49 -DWb 1% Bepssram
Blenawufer Cargenar Gsils.
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Find the initial basic feasible solution of the following 1@ nsportation pn:)blcm.
1 Il I v Supply

A 5 1 3 3 34

B 3 3 i | 15

& 6 4 3 | 12
¢t . D 4 1 5 19
Demand 21 25 17 4
Using (i)  North west corner rule

(i)  Least cost method
(iii) Vogel's approximation method
OR
Wages of the factory workers are assu med to be normally distribu ted with v
25. A random sample of 50 workers gives the total wages cqual to
T 2,550. Test the hypothesis p=>52, against the alternative h}rpothesis =49 at
1% level of significance. - il

ariance

| 46. () uTWUNSS Qg,rrsmaauﬁl'_ml_ @ nl_ L& Grsbcmal)frmés Q & megor (i

-

[(2x* - 4)dx.
1
NN

(<) Banr efleng@aet 2 Huss AeluouBo Qawurligd g Wal&E R

(a)

eflené @ eSgLD 6 e efleTaGaer a@ssuL@Hamer. GEsGUTED 6 smsar
a@ssLU@Hapan. Gereu L 65lau ki &aT Sjeum e Lwerum (Hé
srasms (waflde) @hlsflapar aafld X whmb R LLBIST aeb
DO mHE a1 (plgasmars GHUIGS.

SafT) GTEHT pwerurl_( sreow (warflude)

620 687 666 689 738 686
501 585 524 585 653 668
673 701 686 567 619 660
646 626 572 628 631 743
494 684 659 643 660 640
634 755 625 582 683 555

(n=6 erafied, A,=0483, D;=0, D;=2.004 eran QarR&aslLL (HaTarg))

SN | W N =

o 2
Evaluate the integral as the limit of a sum I(21'3 —4)dx.
433 ‘:‘ _1 '

OR 2.

[ Hpliys / Turn over
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(b)

The following data relate to the life (in hours) of 6 electric bulbs cach drawn at an

interval of one hour from a production process. Draw the control chart for X
and R, and comment.

Sample No. , Life time (in hours)
1 620 687 666 689 738 686
2 . 501 585 524 585 653 668
3 673 701 686 567 619 66(0)
4 646 626 572 628 631 743
5 494 684 659 643 660 640
6 634 755 625 582 683 555

(Given for n=6, A,=0483, D;=0, D, =2.004)

2
47. (=) Qu =29- 2p~ B g B P wHmb Q,=5+4p eranuan wanGw G

(<=

(b)

duo - ae?
Qurmeilar Csmeu oerey WHPL Sellly sieTey BpEwaHanDs
@h&sdamar. @rig ‘p’ dlwwows Ghlsfng. sbas uflorpps S
swanblane ellenaeamwis &ramns.
VG|

) om Pnauasdne sreow 10.00 walllld @mbs wHwb 230 werfl eueny

aumb QgraeGudl smplysaiar aaraisms srreflwrs om
HELEADG 25 HEL. @G GHUTILL Hblso

() epULsET Elame

(i) &flwrs 3 SiePlysE WL (HWL

(i) @@DHSULSED 5 DnPULSET auHeusnanar Hlansseilanar Greas.
(e~25=0.08208) '

dp , d°
ke
quantity supplied Q,=5+4p, where ‘p’ is the price. Find the equilibrium price
for market clearance.

Suppose that the quantity demanded Q4 = 29— 2p— 5 and

OR
The average number of phone calls per minute into the switch board of a company
between 10.00 am. and 2.30 p.m. is 2.5. Find the probability that during one
particular minute there will be,
(i) no phone at all,
(i) exactly 3 calls,
(iii) at least 5 calls.
(e ~2>=0.08208)
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